Revision 4 – Intangible Assets (HKAS 38)

Answer 1
(a)
In accordance with HKAS 38, research cost should be recognized as an expense in the period in which they are incurred and should not be recognized as an asset in a subsequent period.

(b)
In accordance with HKAS 38, the development costs of a project should be recognized as an expense in the period in which they are incurred unless all the criteria for asset recognition identified in the standard are met. Development costs initially recognized as an expense should not be recognized as an asset in a subsequent period.

The amount of development costs recognized as an asset should be amortised and recognized as an expense on a systematic basis so as to reflect the pattern in which the related economic benefits are recognized.

(c)
In accordance with HKAS 38, development costs of a project should be recognized as an asset when all of the following criteria are met:

(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits

(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.
The development costs of a project recognized as an asset should not exceed the amount that, taken together with further development costs, related production costs, and selling and administrative costs directly incurred in marketing the product, is probable of being recovered from related future economic benefits.

(d)
Project A:

The research on recovery rate is primary investigation undertaken with the prospect of gaining new scientific or technical knowledge and should therefore be recognized as an expense in the period in which it is incurred.

Project B and D:

The two projects fulfilled the criteria for asset recognition identified in HKAS 38 and should therefore be recognized as an asset.

Amounts to be capitalized for projects B and D in the year ended 30 September 1999 were:

	
	B
	D

	
	HK$
	HK$

	Materials and wages
	400,000
	200,000

	Salary of R&D director
	30,000
	20,000

	Depreciation on plant and machinery used specifically for each project
	50,000
	14,000

	
	480,000
	234,000


Project C:

This project is carried out on behalf of a third party and the costs incurred should be treated as WIP with the cost calculated as follows:

	
	
	HK$

	Materials and wages
	
	180,000

	Salary of R&D director
	
	24,000

	Depreciation on plant and machinery used specifically for the project
	6,000

	
	
	210,000

	
	
	

	Restricted to cost recoverable
	
	200,000


Answer 2
(a)(i)

Goodwill arising on acquisition (or goodwill) is the excess of the cost of the acquisition over the acquirer’s interest in the fair values of the identifiable assets and liabilities acquired at the date of acquisition.

Goodwill should be recognized as an asset and carried at cost less any accumulated impairment losses and should not be amortised.  HKFRS 3 “Business Combinations” requires that positive purchased goodwill must be tested annually impairment, and written down as necessary in accordance with HKAS 36 “Impairment of Assets”.

(a)(ii)

Negative goodwill arises when the fair value of the net assets acquired exceeds the fair value of the consideration paid. This for many people is an unusual concept to grasp as it appears that the selling company (or its shareholders) is accepting, presumably at arms length, an amount of consideration that is less than the company’s underlying net assets are individually worth. If this is the case the acquiring company has purchased the business cheaply. This can happen for several reasons:

(i)
the vendor may be in a poor bargaining position, or makes an error in valuing the business it is selling.

(ii)
the share price may be depressed because of a poor profit record (or in expectation of future losses) and the offer price seems reasonable in comparison to this.

(iii)
the assets may be of high value (perhaps if put to a different use), but this is not reflected in the acquisition price.

Before negative goodwill is recognised, the fair value of the net assets acquired should be reviewed to ensure that they have not been overstated. Once this check has been carried out, any remaining negative goodwill should be recognised immediately in the income statement.

(b)

	
	
	$000

	Purchase consideration
	
	8,000

	Less: Net worth of A Limited $(3,000,000 + 10,000,000 + 5,000,000 – 9,600,000) x 60%
	
	(5,040)

	Goodwill
	
	2,960


Answer 3
(a)

According to HKAS 38, an asset meets the identifiability criterion of an intangible asset when it is capable of being separated from the entity and sold, transferred, licensed, rent or exchanged; or arises from contractual or other legal rights, regardless of whether those rights are transferable or separable from the entity or from other rights and obligations.

An entity is regarded as having the ability to control an asset if the entity has the power to obtain the future economic benefits flowing from the underlying resource and to restrict the access of others to those benefits.

The future economic benefits that are derived from an intangible asset and that flow into an entity may include revenue or benefits resulting from the sale or use of the asset, as well as the savings in costs of production or other costs.

(b)

Examples of research activities are:

· The search for alternatives to materials and devices used in the manufacturing process.

· The formulation, design, evaluation and final selection of possible new devices.

· The search for, evaluation and final selection of, applications of research findings or other knowledge.

[Any two points, 1 mark each, maximum 2 marks]

In accordance with HKAS 38, expenditure on research shall be recognized as an expense when it is incurred and no intangible asset arising from research shall be recognized.

(c)

The cost incurred for a development project, in accordance with HKAS 38, shall be capitalized as an intangible asset if, and only if, an entity can demonstrate:

(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits

(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.

(d)

Project  W100 is a research project and the whole amount of $464,000 shall be charged to profit and loss as an expense in accordance with the requirements of HKAS 38.

Project X200 is a project for developing a new device and is able to meet the recognition criterion as an intangible asset under HKAS 38 (see answer in part (c) above) and; therefore, the whole amount of the development project $768,000 shall be capitalized and grouped under the heading of intangible assets.

Since there is a contract between Beauty Limited and Skincare Limited, the amount of project Y300 to be capitalized shall be limited to the amount that can be recovered from the contract revenue, that is, $300,000. The amount of loss on this development project, that is $36,000, shall be charged to profit and loss.

Since there is no future economic benefit from development project Z400, the whole amount incurred for this project, that is $374,400, shall be charged to profit and loss.

Skincare Limited

Extract of statement of financial position as at 30 September 2005

	Non-current assets
	

	Intangible assets
	

	Deferred development expenditure ($768,000 + $300,000
	$1,068,000


Skincare Limited

Extract of income statement for the year ended 30 September 2005
	Other expenses
	

	Research and development costs written off

$(464,000 + 36,000 + 374,400)
	$874,400


Answer 4
(a)

In accordance with HKAS 38, an intangible asset is an identifiable non-monetary asset without physical substance. The distinct characteristics of an intangible asset are:

(i)
Identifiability:

An asset meets the identifiability criterion in the definition of an intangible asset when:

· It is separable, which means that it is capable of being separated or divided from the entity and sold, transferred, rented or exchanged, either individually or together with a related contract, asset or liability; or

· It arises from contractual or other legal rights, regardless of whether those rights are transferable or separable from the entity or from other rights and obligations.

(ii)
Control:

An entity has the ability and capacity to control an asset when:

· The entity has the power to obtain the future economic benefits flowing from the underlying resource; and

· The entity has the ability to restrict the access of others to those benefits from the asset.

(iii)
Future economic benefits:

The future economic benefits flowing from an intangible asset may include revenue from the sale of products or services, cost savings, or other benefits resulting from the use of the asset by the entity.

An entity’s capacity to control the future economic benefits from an intangible asset obtains from legal rights that are enforceable in a court of law.

(b)(i)

The patent falls in the definition of intangible assets in accordance with HKAS 38 as it is an identifiable non-monetary asset without physical substance; also Research Limited can control the future economic benefits generated from it and can restrict the access of others to the benefits generated from the patent. As a result, Research Limited should recognize the patent as an intangible asset at the time of obtaining control of the future economic benefits generated from this asset.

Under HKAS 38, the carrying amount of the patent should be measured in the statement of financial position after deducting any accumulated amortisation and accumulated impairment losses thereon. Fair value of an asset is the amount for which that asset could be exchanged between knowledgeable, willing parties in an arm’s length transaction. It is estimated by the specialist patent valuer that the fair value of the patent is $30 million at 1 July 2005. Since the useful life of the patent is 10 years at 1 July 2005 and there is no impairment of it for the year to 30 June 2006, the value of $27 million (fair value at 1 July 2005 $30 million – amortisation for the year $30 million/10 years – impairment $0) should be included in the statement of financial position at 30 June 2006.

(b)(ii)

Examples of research activities, given in HKAS 38, involve obtaining new knowledge; formulating, designing and evaluating, searching and selecting alternatives for materials, devices, products, processes, systems or services as well as the applications of research findings or other knowledge. Clearly, the activities related to the formulation, design, evaluation and final selection of possible alternatives for drugs, carried out by Research Limited, should fall in the category of research activities.

To assess whether an internally generated intangible asset meets the criteria for recognition, an entity classifies the generation of the asset into a research phase and a development phase. HKAS 38 explicitly states that no intangible asset arising from research shall be recognized and expenditure on research shall be recognized as an expense when it is incurred because, in the research phase of an internal project, an entity cannot demonstrate that an intangible asset exists that will generate probable future economic benefits. Therefore, the costs of $3 million should be charged to the profit and loss account in the year in which the expenses were incurred.

(b)(iii)

Examples of development activities, given in HKAS 38, involve the design, construction and testing of pre-production or pre-use prototypes and models or a chosen alternative for new or improved materials, devices, products, processes, systems or services; and the design of tools, moulds and dies involving new technology and a pilot plant that is not of a scale economically feasible for commercial production. In this connection, activities on the design, construction and testing of pre-production for a chosen new product, carried out by Research Limited, should be within the scope of development activities.

HKAS 38 specifies that the cost of an internally generated intangible asset comprises all directly attributable costs necessary to create, produce, and prepare the asset to be capable of operating in the manner intended by management. In the case of Research Limited, the directly attributable costs of the development phase of the project include:

· Cost of materials and services used or consumed in the development of $20 million;

· Staff costs for the development of $16 million;

· Fees to register a legal right of $1 million; and

· Amortisation of patents that are used to generate the new drug in year of $3 million.

In accordance with HKAS 38, the costs arising from the development phase of an internal project shall be capitalized if, and only if, an entity can demonstrate all of the following:

(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits

(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.

In this case, there are doubts surrounding the results of testing on human being. Therefore the costs arising from this development project should not be capitalized and, rather, the whole amount should be recognized as expenses in the year in which the expenses are incurred.

Answer 5
(a)

Development of a new drug:

The new drug is an internally developed intangible asset. Internally generated intangibles can only be recognized if they meet the criteria of capitalization of internally generated intangibles, specified in HKAS 38. Based on the information given in the question, Blue Limited has the ability to complete the product for intended use and to measure reliably the expenditure attributable to the intangible assets of $10 million. Moreover, the success of sales in certain markets proves that the intangible asset will generate probable future economic benefits. The development expenditure of $10 million can be recognized as an intangible asset, namely deferred development expenditure.

Regarding the measurement after initial recognition, HKAS 38 states that an entity can choose either the cost model or the revaluation model as its accounting policy. HKAS 38 specifies that, if an intangible asset cannot be revalued because there is no active market for this, then the intangible asset should be carried at its cost rather than at revalued amount. The drug patents are unique even if there are similar types of drugs in market; therefore it is unlikely to have an active market in this specific case. Therefore the drug would be recorded at its development cost of $10 million, rather than at the market value of $16 million.

According to HKAS 38, the depreciable amount of an intangible asset with a finite useful life shall be allocated on a systematic basis over its useful life and amortisation shall begin when the asset is available for the intended use. In particular, the asset is available for the intended use when it is in the location and condition necessary for it to be capable of operating in the manner intended by management. In this case, the sale of the new drug has already started in March of 2007; therefore, the asset is in the condition necessary for the intended use. Amortisation should begin in the current year based on the carrying amount of $10 million.

(b)

Staff training costs:

HKAS 38 states that the recognition of an item as an intangible asset requires an entity to demonstrate that the item meets the definition and the recognition criteria of an intangible asset. The definition of an intangible asset involves the distinct features of its identifiability (that is, capable of being separated from the entity) and its ability to control the future economic benefits from the company’s underlying resources.

Identifiability

If resources had been used on a tangible non-current asset resulting in similar benefits; they would be eligible for capitalization in terms of identifiability and the availability of future economic benefits. Blue Limited has a team of skilled staff and there is an enhancement of revenues and a reduction in costs; thus, this may be an indication that the company is able to identify incremental staff skills leading to future economic benefits from training.

Control on future economic benefits

An entity controls an asset if it has the power to obtain the future economic benefits flowing from the underlying resource and to restrict the access of others to those benefits. A skilled workforce is of great benefit to a company. Blue Limited, of course, would like the staff to continue to make their skills available to the entity. In the absence of legal rights, it is more difficult to demonstrate the capacity of Blue Limited to control the future economic benefits from an intangible asset, the future economic benefits from staff training in this case. As a result, Blue Limited’s ability to control the access of future benefits from training its staff is doubtful. The main reason is that, in this case the company cannot claim to control the employees, as it is quite possible that employees may leave Blue Limited and work elsewhere.

Answer 6
(a)

In accordance with HKAS 38 “Intangible Assets”, an intangible asset is defined as an identifiable non-monetary asset without physical substance. [1 mark]
The recognition criteria of an item of an intangible asset are:

(i)
the cost of the asset can be measured reliably; [1 mark] and

(ii)
it is probable that the expected future economic benefits that are attributable to the asset will flow to the entity. [1 mark] An entity shall:

· Assess the probability of expected future economic benefits using assumptions that represent management’s best estimate of the economic conditions that exist over the useful life of the asset. [1 mark]
· Use judgement to assess the degree of certainty attached to the flow of future economic benefits, that are attributable to the use of the asset, based on the evidence available. [1 mark]
(b)

The carrying amount of “patent” that would appear in the statement of financial position of Scientific Limited as at 31 December 2007 is:

	
	$
	Marks
	Explanatory notes

	Cost, at 1/1/04
	6,102,000
	1
	(1)

	Amortisation for the year to 31/12/04

($6,102,000 / 9 years)
	678,000
	1
	(2)

	Carrying amount at 31/12/04
	5,424,000
	
	

	Revaluation at 1/1/05
	2,500,000
	1
	(3)

	Carrying amount at 1/1/05
	7,924,000
	
	

	Amortisation for 3 years to 31/12/07

($7,924,000 / 8 years x 3)
	2,971,500
	2
	(2)

	
	4,952,500
	
	

	Impairment
	500,000
	1
	(4)

	Carrying amount at 31/12/07
	4,452,500
	
	(4)


Explanatory notes:

(1)
The patent falls in the definition of intangible assets in accordance with HKAS 38 as it is an identifiable non-monetary asset without physical substance that Scientific Limited can control and can restrict the assess of others to the future economic benefits generated from it. [2 marks] As a result, Scientific Limited should recongise the patent as an intangible asset at the time of obtaining control of the future economic benefits generated from this asset; that is 1 January 2004. [1 mark]
An intangible asset shall be measured initially at cost. [1 mark] The cost of a separately acquired intangible asset, such as patent, comprises its purchase price and any directly attributable cost of preparing the asset for its intended use. These involve the purchase price, fees payable to government agency and legal fees in this case. [2 marks]

(2)
HKAS 38 states that the depreciable amount of an intangible asset with a finite useful life shall be allocated on a systematic basis over its useful life and amortization shall begin when the asset is available for the intended use. [2 marks] In this case, the patent is for the purpose of completing the development project and the project had been started before the acquisition of the patent; as a result, the patent should start the amortization from year of acquisition (that is, year to 31 December 2004). [2 marks] The amortization method used shall reflect the pattern in which the asset’s future economic benefits are expected to be consumed by the entity except that the pattern cannot be determined reliably, then straight-line method shall be used. Thus, straight-line method is used for the amortization of patents. [2 marks]

(3)
Since it is the policy of Scientific Limited that an intangible asset is to be carried at a revalued amount, the revaluation model is applied after initial recognition. [1 mark] Based on the requirements of HKAS 38, the patent shall be carried at a revalued amount, being its fair value at the date of the revaluation less any subsequent accumulated amortization and any subsequent accumulated impairment losses. [2 marks] HKAS 38 states that fair value of an asset is the amount for which that asset could be exchanged between knowledgeable, willing parties in an arm’s length transaction. [1 mark] Since there may not be an active market for the patent in this case, value of the patent estimated by the specialist patent valuer should be considered as a fair value of it. [1 mark]
(4)
Under HKAS 38, the carrying amount of the patent should be included in the statement of financial position after deducting any accumulated amortization and accumulated impairment losses thereon. [1 mark] An impairment loss is defined by HKAS 36 as the amount by which the carrying amount of an asset or a cash-generating unit (CGU) exceeds its  recoverable amount. [1 mark] The recoverable amount of an asset or a CGU is the higher of its fair value less costs to sell and its value in use. [1 mark] Since the patent is used for completing the research project rather than for sale, value in use is an appropriate method to account for the recoverable amount of the asset. [2 marks] HKAS 36 defines value in use as the present value of the future cash flows expected to be derived from an asset or CGU. [1 mark] When measuring value in use, Scientific Limited shall rely on cash flow projections with reasonable and supportable assumptions that represent management’s best estimate of the range of economic conditions that will exist over the remaining useful life of the patent.

(Maximum: 14 marks for the explanatory notes)
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